& Manuals+

Home » Autonomous » Autonomous Levitate2 Smart Desk User Guide =

Contents [ hide ]

1 Autonomous Levitate2 Smart Desk
2 INCLUDED PARTS
3 ASSEMBLY GUIDE
3.1 CABLE MANAGEMENT
4 DESK POSITIONING
5 DESK & SPLITTER CONNECTION
6 ACCESSORY INSTALLATION
7 USER GUIDE
8 Documents / Resources

8.1 References

Autonomous

Autonomous Levitate2 Smart Desk

CAUTION


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/autonomous
https://manuals.plus/autonomous/levitate2-smart-desk-manual.pdf

READ AND FOLLOW ASSEMBLY INSTRUCTIONS CAREFULLY BEFORE USE.

@ Keep kids and pets away during use.

8] Ea Unplug during storms or long unused periods.

Keep the under-desk area (20"+) obstacle-free during use.

@ Keep desktop away from walls for ventilation.

Keep the desk in 0-40°C, away from dust and corrosives.

Do not disassemble without permission.

RESET | Manually reset after first use or power outage.

INCLUDED PARTS



Short Crossbeam

Column D Long Crossbeam 1 Column A




Power Cord

Keypad Cord

x1

Upper Tube

Motor Cords

Cable Organizer

(022006 )

7

@ M5*10 Screws

6 ) 32

@- ST4*20 Screws

@- M6&*10 Screws

J

R
) Ex

@ Méx10 Hand Screw

[ED.JH

© ST5*20 Screws

@ M4 Wrench

L=x1

ASSEMBLY GUIDE

COLUMN ASSEMBLY




1. Connect Columns A & D to Long Crossbeam 1

2. Attach the two Short Crossbeams
to Columns A &D

QFV
2) EXTN e,

F




[ TEAM LIFT )
Q @

2. Two people lift Columns C& B
to attach them to Columns A & D

UPRIGHT DESK FRAME



" TEAM LIFT )

_— ]

A

Two people lift the desk frame upright

T -
II."";J

| ]
= -
;
1R
= i — ¥
:h.-i’.-_
— -
- =i

DESK LEG WIRING

1. Secure all connections with 32 screws A, then tighten with wrench G

2. Connect the connectors on Columns A & B through the Short Crossbeam



,,
@ M5*10 Screws

@ M3 Wrench
m x 32 % 1. secure all connections with 32 screws@.

then tighten with wrench@

— ™

) ™
g 1o N

=
=,

Note:

After connecting,
place the cable
cdnd cable head

into the
Crossbeam

L%

o7

Note: After connecting, place the cable and cable head into the Crossbeam

DESK LEG WIRING




Note:

After connecting,
place the cable
and cable head

into the
Crossbeam

Connect the connectors on Columns C & D through the Short Crossbeam
Connect 2 Motor Cords & Keypad Cord to Column B, then connect 2 Motor Cords to

Column C through Long Crossbeam 2

Note: After connecting, place the cable and cable head into the Crossbeam

SPLITTER ATTACHMENT



Connect the Splitter Connector
to Column A through Long Crossbeam 1,
then connect the Keypad to the Splitter

CABLE TRAY ASSEMBLY

1. Insert 2 screws B. but tighten them halfway



2. Attach the Cable Tray with 2 screws B (Step 1)

-

r M6*10 Screws | -

3. Tighten 2 screws B (Step 1)
/ /

1. Insert 2 screwa . but tighten them halfway

2. Attach the Cable Tray
with 2 screws (B (Step 1)

W
(\p &

,' ’ar-. ﬁi{y _..-"J
I:::". 7 - /
I'-__ Jl,-

3. Tighten 2 s:r&ws (Step 1)
W

CABLE MANAGEMENT



1. Connect the Keypad & Power Cord End to the Control Box, then plug the Power Cord

Head into the extension socket

4 3

Control Box @

L v

2. Connect the 4 Motor Connectors to the Control Box



Connect the 4 Motor Connectors
to the Control Box

- 11

i

=

) \\\/J R

3. Use Zip Ties to organize the cables

)

£ -—._q_n_jﬂ:!:.

DESK POSITIONING

1. Unbox the desk top and place it on the frame, aligning the surface with the screw
holes

2. Insert 16 screws C with screwdriver



" TEAM LIFT )
) O

1. Unbox the desk top and place it on the frame,
aligning the surface with the screw holes

Screwdriver
{prepare your own)

2_ Insert 16 screws @ with screwdriver

12

DESK & SPLITTER CONNECTION

1. Insert the Hand screw E to secure the Cable Tray



2. Use a screwdriver to attach the Splitter to the surface with 2 screws D. then connect
the Sensor Connector to the Splitter

3. Use Zip Ties to organize the cables

g ™y

r ™
@ Mé6*10 Hand Screwdriver
screw || (prepare your own)

x 1

it
-
W

)IDDID) X 2

A vy

1. Insert the Hand screw (E)
to secure the Cable Tray

e A

ACCESSORY INSTALLATION

1. Put the Main Power Cord into the Upper Tube, attach the Upper Tube to the Column B
2. Attach the Cable Organizer to the Long Crossbeam 2



USER GUIDE

How to use the two buttons under your desk

Reset




e Press and hold the+ and — buttons together for 3 seconds.
o The desk will lower to its lowest position. Keep holding both buttons until you hear |
beep, indicating the desk has reset (3 beeps indicate an error).

o Release the buttons after the beep to complete the reset.

Adjusting Desk Height

o To Raise the Desk

Press and hold the + button. Release it when the desk reaches your desired height.
o To Lower the Desk

Press and hold the — button. Release it when the desk reaches your desired height.

Memory Function

Save Memory Position 1:

o Adjust the desk to your preferred height.
e Double-click the+ button. The desk will beep to confirm.

e Double-clicking the+ button again will overwrite the previous setting.

Save Memory Position 2:

o Adjust the desk to your preferred height.
e Double-click the — button. The desk will beep to confirm.

o Double-clicking the — button again will overwrite the previous setting.

Recall Memory Positions:

e Press the + button once to move to Memory Position 1.

e Press the — button once to move to Memory Position 2.

Note: The sensor and keypad cannot be used at the same time. The control box

responds to only one at a time.

Any questions?
Chat with our Customer Support team at www.autonomous.ai/help-center


http://www.autonomous.ai/help-center

We're here to help!

Documents / Resources

J Autonomous Levitate2 Smart Desk [pdf] User Guide
25mb, Levitate2 Smart Desk, Levitate2, Smart Desk, Desk

References

¢ User Manual

@ 25mb, Autonomous, Desk, Levitate2, Levitate2 Smart Desk, Smart

m Autonomous Desk

Leave a comment

Your email address will not be published. Required fields are marked *

Comment *

Name

Email

Website


https://manuals.plus/m/b39e161b8d9e989e7142cdd9c72a0673cf323d73f9f7e6b4a99842f576f9ffd8
https://manuals.plus/m/b39e161b8d9e989e7142cdd9c72a0673cf323d73f9f7e6b4a99842f576f9ffd8
https://manuals.plus/m/b39e161b8d9e989e7142cdd9c72a0673cf323d73f9f7e6b4a99842f576f9ffd8
https://manual.tools/?p=17364442#MTQ4LjExMy4yMTAuMjUwOzJhMDY6OThjMDozNjAwOjoxMDMsIDEwNC4yMy4yMDkuNiwgMy4yMTcuMjAwLjE5MDszLjIxNy4yMDAuMTkwOzJhMDY6OThjMDozNjAwOjoxMDM7
https://manuals.plus/category/autonomous
https://manuals.plus/tag/25mb
https://manuals.plus/tag/autonomous
https://manuals.plus/tag/desk
https://manuals.plus/tag/levitate2
https://manuals.plus/tag/levitate2-smart-desk
https://manuals.plus/tag/smart-desk

[T Save my name, email, and website in this browser for the next time | comment.

Post Comment

Search:

e.g. whirlpool wrf535swhz

Manuals+ | Upload | Deep Search | Privacy Policy | @manuals.plus | YouTube

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos
are registered trademarks owned by Bluetooth SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of

these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/
https://manuals.plus/upload
https://manuals.plus/deep-search
https://manuals.plus/privacy-policy
https://x.com/manualsplus
https://www.youtube.com/@manualsplus

	Autonomous Levitate2 Smart Desk
	INCLUDED PARTS
	ASSEMBLY GUIDE
	CABLE MANAGEMENT

	DESK POSITIONING
	DESK & SPLITTER CONNECTION
	ACCESSORY INSTALLATION
	USER GUIDE
	Documents / Resources
	References

	Leave a comment

